
Good deal or bad deal? 

Work out if each offer is a good deal or a bad deal. 

1.  Burgers usually cost £1.85 each. Today you get 2 for £3.50. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

2.  Oranges usually cost 65p each. Today you get 4 for £2.00. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

3.  Crisps usually cost 49p a bag. Today you get 2 bags for £1.00. 

Do you save any money?                                  Good deal or bad deal?         

If yes, how much?  

4.  Apples usually cost 88p a kilo. Today you get 2 kilos for £1.60. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

5.  Biscuits usually cost £1.45 a packet. Today you get 3 packets for £4.00. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

6.  Chocolate bars usually cost 98p each. Today you get 3 for £3.00. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

 

 

 Easter Eggs usually cost £2.50 each. Today you get 4 for £8.50. 

Do you save any money?                                  Good deal or bad deal?          

If yes, how much?  

 


